Stoichiometry

What is it?
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Where is used in real life?

Mars Chocolate Factory Tylenol Factory Nike Shoe Factory

It's used everywhere there is a product being manufactured!

How do you solve problems?

- Use a MOLE RATIO!

o The mole ratio is used to convert from the moles of your given substance

(what you have] into moles of what your unknown is (what you are trying to
make!
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A) How many moles of aluminum chlor!qe )can be produced from 4.00 moles of aluminum
reacting with excess chlorine gas? S
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B) How many moles of alummum chlonde cap be produced from 1.50 moles of chlonne gas
reactfng with excess-aluminum? b
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C) How many moles of chlonne gas aré needed to completely react with 33.3 moles of
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O? LiOH(s) + H;SOs(aq) > Li:SOs(aq) %Hzo ()
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D) How manymoles of lithium sulfate are formed from the reaction of 47.9 g if lithium
hydromde with excess sulfuric acﬁ'? S ]UQ

4?%»‘4@'4 gttt | Il a0 ) - 1.00 ol

|93 950Lretl | Mo 10 s)

A ’
lti 1-:0179

=

305 * sven
E) How ma moles:f'@re produced when 32.70 g of sulfuric acid react with excess
lithium hydroxide™ —

RO HaSOt mol %SO‘J _
CP& QB 2
{ = &‘O (1 L m0|
0;“34 =33, ¢ g 3333, 7315m0l Hak, /Jmo/zééa__ %@ N Ha(

40 =4.009 S e

W //”D’%SO,
9 o GIUGN
- F) How many e are needed to produce 90.1 gofw_aie:-__rz
o’ZUOH FHRO q = anq + R H0

90. g 140 MMJ AmolLiol |
/g,oa,gﬂeé\o?mﬁmgo " 5.0Umd HoC

~&H &.033
10 1.009

7@3"



